
Subject: Re: Vectorizing Code
Posted by marc schellens[1] on Thu, 28 Feb 2002 06:17:51 GMT
View Forum Message <> Reply to Message

>>  sa = 10.^2*EXP(-ABS(REBIN(LINDGEN(nstate), nstate, nvec, /SAMPLE) - $
>>     REBIN(REFORM(LINDGEN(nvec), 1, nvec), nstate, nvec, /SAMPLE))*dz/h)
>  
>  I am afraid I'd rather stick with the optimized loops than something that
>  takes me five minutes to figure out :-(
>  Pavel

but unfortunately in IDL it may save you more than five
minutes at run-time if you do figure it out...
:-) marc
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